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B A& HE RE % B
4,262,385[1/11T 1T 2%
188H| 50,000 4312385 | REXERERE (X, 2)+F{GHt
189H 600] 4,311,785[P t
1898 6,625) 4,305,160/ (REXRBERHE (SYIR, Mt
1898 9,027] 4,296,133 | RERBERE (E—J L. Mt
1898 51,937| 4,244,196 |{RERBERE (STSF—JL. Mt
1B138[ 30,000 4,274,196|N#& 14
18128 262| 4,273 934X RERE SvIR. 2)
1B15H 54,268] 4,219,666|REREAXAEERE Q—F—. )
1A15H 8,148 4211 518| RERBRABREBE UYL L. 92 2)
18158 35,751| 4175767 | REERE (SvIX. £)
1B15H 1,150] 4174617 | B HERE
1B15H 3,000] 4,171,617 BHRERE
18158 3,812 4,167,805|AV 1 1%
1B15H 1,600] 4,166,205]P
1H158] 24,400 4,190,605 BB CF i+
18158 800 4,191,405|9 v X5EY EIF
1B15H 2,400] 4,189,005| A EEP
1A10H 3,360 4,185,645 (REXRBREEE 3—F—MPK. &)
18128 3,550| 4,182,095 {RFEREFL HixE (3—F—. J')
1B16H 14,200| 4,167,895 {REERFEALZ8%E (£ =Y . 77 . SVIR. 149
1H19H 5,300 4,173,195|RA LRy MES B
1A19H 3,360 4,169,835 | (REXRBREEE (SYVAMPK, )
1B19H 3,255| 4,166,580 {REEXBRERE SVIXR. )
18218 5,880| 4,160,700{ZL—FkhEIH A X
1822H 23,640 4,137,060 {REXEAXAERE SVIR. )
1B18H 1,000| 4,136,060(#r38 O FERARZEE
1823H 3,550 4,132,510|fREREFL B FRE SvIAR. I)
1B24H 6,068] 4,126 442 | RERBRERE (39IR. )
1824H 1,900| 4,124,542(P ><3
18238 4,200 4,120,342 ;B EE
18238 1,989] 4,118,353 @BIEE
1829H 10,000 4,128,353| BHRECH
1H298] 45,250 4,173,603 1&“‘*&1‘:’%%9&%(&77& Q) +F &t
18298 3,600 4,170,003[{REXBRERE U3 LLR. 3992 R)
1829H 3,600] 4,166,403 1%5%16%%*%%477“% B
1829H 2,980| 4,163,423|BIELE
1829H 7,200| 4,156,223 | REXBRERE CvIA. )
1823H 2,000 4,158,223[CF 1+ (Y.SkR)
1823H 3,000 4161,223[2 =7 &+ (Y.S¥)
18238 10,000 4171,223|2 =7 ZFF (Y.SHR)
1831H 8,190] 4,163,033 #manﬁhu)&%
1A31H 93,492| 4,069,541 [{REXEERE VIR L)
1B31H 3,417| 4,066,124 {fﬁ.ﬁqﬁ
4,066,124




L)
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B AE HE B % B
4,066,124[2/1(F 175 %
2818 1,000 4,067,124|MMERSE 4
2818 3,000 4,070,124|ATHEC B4+
2818]| 100,000 4,170,124 YRR AT
2818 1,000 4171,124|MMBRSERH =7 ES)
2H2H 21,500] 4,149,624|201 1 G A EZE~DELL
2H2H 1,200| 4,148,424[P (4 H\FR %)
2828 525| 4,147,899| O EEZE B F 5kt
2828 319 4148 218[FI &
2838 6,937] 4,141 281 [fEFEEL
2858 12,002 4,129,279 |[{REXBRERE 39IAN X 2)
2878 14,280 4,114,999 | REXERERE SvJR N)
2H8H 11,286 4,103,713|RB>F2C
2H88H 8,148| 4,095,565 | RERBERE {39V . A2 )
2H88H 8,552| 4,087013|REXEERERE (3L 2)
2H88H 26,150 4,060,863 | REREAEERERE (V12 )
2878 2,160 4,063,023|7 v X355 E (DF #)
2H8H 1,500| 4,061,523@BRER 44D
2H6H 5,460| 4,056,063 | RERBERE (MPHAT-R' 7)
2898 5,698] 4,050,365 [EETEEL
28108 5,460| 4,044,905 REXRBRERE (MPHIVIRA D)
28108 1,600] 4,043,305(P (+V4—H{AHHE)
28108 3,780| 4,039,525 | REXREHRERE (W12 )
28118 22,319 4017206 | (REREBRERE (ES5JJ)
28118 9,191 4026397 [ FILBEHEEE5
28128 2,800 4,029,197(5 v X355 E (M.IER)
281280 5,140| 4,024,057 |REXBERE 392 x2)
28138 4,700] 4,019,357|BEATE
2813H 471| 4,018,886\ KR 5> TA 7 RBEE
2814H 32,880 3,986,006 [{RERZRE (Z5FIx27-M -+t EXEEE
2H813H 2,000 3,988,006 |M.RERC 215t
2H813H 2,000 3,990,006 MREECEFF =T HSE)
2817H 32,730| 3,957 276 | REREAERERE (\EI>2)
2818H[ 23,490 3,980,766 | R EAEARREEE {301 2)
2818H 4,500 3,985,266|5 v X5 E (N.Y4R)
2H18H 900( 3,984,366 | FILEHEREE
2H16H 2,300 3,986,666 | A JLRIRA v bR B4t
2816H 3,360| 3,983,306 | REARBRERE MPLNETVR)
2H19H 900] 3,982,406|P (2H\Fi %)
2H19H 13,580| 3,968,826 | AR EBEREC—ILTV. 2)
28208 33 3,968,859 FI &
2H20H 2,000 3,970,859 |Y.SHECF
2H16H]| 30,000 4000859 KABCHHCC=7ES)
28208 2,000 4,002,859|Y.SHECHH =T ES)
2817H 10,800| 3,992,059 |[{REARERE 39IAN X 2)
2H22H 143,242| 3,848 817|RERXREEE SvIA L FHELA)
2821H 2,470| 3,846,347 | RERXBRERE (39IA X2)
2H22H 89,281| 3,757,066 |[{RERERE OIS AFELHEAN)
2H22H 16,800| 3,740,266 |[{REAEEE (392 2)
28258 2,100 3,742,366/ v X5E E
2H25H 1,540/ 3,740,826 | @R E R 455
28 23H 1,365| 3,739,461 |{REEXERE (IAN)
2821H 3,550 3,735,911 |{REXZ 5 E ET)
2H24H 3,550] 3,732,361 | {RFERZERE (FAT—FIL)
28238 3,780| 3,728,581 |{RERREREE (MPHMI—FIL ")
2H25H 7,000{ 3,721 581 BEFHEP=—&%H
2H23H 600] 3,720,981[P
2H23H 11,600{ 3,709,381|2L—Fk—=%&
2H25H 2,079| 3,707,302[;@1EE
2H25H 4,200] 3,703,102 BIEE
2H25H 7,040| 3,696,062 BIEE
2H25H 1,750| 3,694,312[P 2HF %)
2H25H 1,000| 3,693,312[HVU £
2H25H 4,800/ 3,688,512|BTEL
2H25H 500| 3,688,012[P
2H21H 5,000 3,693,012|MKERCHHM =T ESE)
2821H| 240,000 3,933,012 MR (B %)
2H29H 3,000 3,936,012|KOBRS Bt
2H24H 20,000 3,956,012|RExCEHfF =T EE)
2H28H 2,650 3,958,662| 7 v X BRse @ BR 244
28288 10,280 3,968,942| 7w RERFE @ ER6 4 GRE O ES)
& 470,823 568,005
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3,968,942[3/11f 1T &
3818 7,810 3,961,132 [{REXABRANRYFID)
3818 26,700( 3934432 | REXREAXERERE (J—FILN)
3A1H 4.200] 3,930,232 BiEATEL
3818 7,200( 3,923,032 [{RERBREREMI-FIL)
3H18 390] 3,922 642 @B K 5
3818 7,420 3,915,222 |[{REX A ER()—FHS—16XK)
3818 400/ 3,914,822|P
3858 780 3,914,042 |[{REXAERNEIVS)
3H5H 2,079]| 3911,963[(REXREHEE /\EIV L)
3A5H 5,000 3,916,963 |NERZ & {
3H5H 4,883] 3,912,080 RE XA RCEER)
385H 14,400 3,897,680[fREXAERIIL—Y0
3A5H 140] 3,897,540|ER{E 1L
3H5H 35,837| 3,861,703 REXBRERE (2757 /X% A)
3H8H 7,294| 3,854,409 | REXBRERE MPRL—X—2)
3H8H 525 3,853,884 |REXEEE (3vIA )
3H9H 30,700 3,823 184|REXEARAERERE L —X—2)
3H9H 9,870| 3813314|RERBERE SvIAN X 2)
3H9H 5,530( 3,807,784 | REXAlERANYK6D)
3H108 1,094| 3,806,690 | FREXZEERE V\ET2)
3811H 200/ 3,806,490]|P
3H118 7,570| 3,798 920 R EXAERHP—IILTIUR)
38128] 31,000 3829920 REXEARERE 3—F-) +ZF
3H13H 5,302 3,824,618| KRB ERECYIAN) +HiRAFEHF
3A1H 1,111 3,825,729|L.SH & 1+
3H5H 3,000 3,828,729 ATHRCH T
3A7H 10,000 3,838,729 |M AR C & 1
3H38| 44,130 3882859 | REXREXRERE - I +ZHM
3H14H 840| 3,882,019 | REXREEERE(\EIVR)
38108 3,000] 3,879,019[AV) 1%
3H17H 8,400| 3,870,619 BIEE
38158 3,550| 3,867,069 [{REXRZ IR L —X—)
3819H 9,522| 3,857.547 | REXBERE CVIAT V-2 —-2)
38238 510 3,857,037 [ER{ELE
3H22H 4,620( 3,852 417|RE+FYSV S (UNETV R)
38228 600 3,851,817[P
3H23H 11,825[ 3,839,992 | K RBEHEQO—ILT2)
38108 3,180 3,836,812[3 & (PAK)
38 13H 450] 3,836,362 @ B ¥ 55
38178 2,400| 3,833,962 | REXEEE {3V L)
3825H] 23,000 3,856,962 | REXREARAERE (SVIRN) +ZFft
3H25H 2,000 3858962 | EFEE T
38258 230( 3,858,732| RS> T4F7HVI A
3B19H 2,000 3,860,732|Y.SERCBHFMH =T ESE)
38308 5,000 3,865 732INYBECSF S =7ES)
3B19H 3,000 3,868,732|Y.Stk = B4t
38228 50,000 3,918,732|UMERZ & 1
3H26H 18,981( 3,899,751 [[{@IE & (EH25)
3H8288([ 100,000 3,999,751|T. S¥RC &1+
3H30H 5,000 4,004,751 INYEC ST
3H23H 14,400| 3,990,351 | RERBREREE CYIANYV-2—-2)
3H28H 14,280| 3,976,071 | GREXREEE A/ SAVFLHBEA)
3H29H 95,777 3,880,294[ Vv XEANK (T ¥Y)
38298 4,240 3,884,534| 7w XERFE @24 GREB O E D)
3,884,534

288,481| 372,889
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3,884 534[4/ 1T 1T S
3H29H 3,360 3,881,174 |{REXRBRERE MPRLF VIR L)
4181H 29530| 3,851,644 REXEAEBRERE 3 vI2 )
4848 11,135| 3,840,509 ;@ E &
4818] 30,000 3870509 | REREARERE SYIARRN) + &1+t
4858 5,460| 3,865,049 [ IRERBRERE (MPRIVIZLR)
486H]| 20,000 3,885,049 |REREKREEE (M7-FI)
4H8H 500( 3,884,549[P
4189H 3,550| 3,880,999 |RE K Z5xF SvIR)
487H 6,230] 3,874,769 | =& 2@ 1BEA
4188H 26,900| 3,847,869 | REXEAERERE (S VIR R)
489H 20,751| 3,827, 118| REXERERE (277 /A2 )
48148 11,970] 3,815, 148|RERBRERE IAN. IR %)
45138 15,494| 3,799,654 |# S RIBEREGYIA D) +HRAFEE
4828 2,500 3,802,154|K. N¥RC & (¢
489H 39,480 3,841,634|T. B {t
489H 1,111 3,842,745|1. S¥RCH 1+
48178 600[ 3,842,145|P
48178 5,632( 3,836,513 |[{RIERBRERE SVIAN. VI3 L)
481H 2,532( 3,833,981 [ RBEREC—ILTR)
48128 11,016/ 3,822,965 [ K RBRERFECT—ILTUR)
488H 5,000( 3,817,965|RERBERE (AT b ZV9)
48288 3,800] 3,814,165|P (3 F)
48298]| 31447 3845612|BNiRBEFSEEHEM+IvXFEL
4829H 420( 3,845,192[28 B R RS TA T SARBE
4H29H 1,736/ 3,843,456 | @ER &
48128 2,940| 3840516 | REXRREREF17S MPRK)
4H9H 5,420( 3,835,096 | REEREREEYIR L)
48128 600| 3,834,496 |{REREERERE (F77 )
4H8H 7,200| 3,827,296 | {REXRBEEE I 9IARvI2A8Y—2-2)
48158 7,190] 3,820,106 |{REXBEFE (-2 -2)
45228 2,308 3,817,798 | {REREERERE (FI77 )
48278 1,888[ 3.815910|REXEEERE(FI T )
48298 8,169| 3,807,741 |{RERBERE J )22 Y—2-2)
48308 1,270] 3,806,471 @ BREE
48298 7,640 3,814,111 |7y XER5E@E R4S GREOES
48208] 75,870 3,889,981|Y. SECZHT
48258 5,000 3,894,981|K. WEEC =1+
48258 26,794 3,868,187[;@1E& (EmH28)
48208 2,000 3,870,187 |TSHRCHFM =T ESE)
48238 3,000 3,873,187|Y.SERCHEM =T ES)
48258 5,000 3,878,187 |KWikCHEF =7 ES)
48278 124,656 3,753,531 |[{REREERERE (4912 %)
48298 806] 3,752,725|28 A R RS T4 T SAHRE
48298 3,752,725

3,752,725

223,048] 354,857
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3,752,125[5/ 1 T B
5818 18,000] 3,734,725 | RE(/\—FR5K)
5A18 200] 3.734,525|P
5A18 2,100 3,732,425 |3
5H1H 17,325] 3,715,100 (%€
5H2H[ 30,500 3,745,600 [ {REREARERE C—X—2)
5878 3,150 3,742,450 | {RERERERE (FI T )
587H 2,900| 3.739.550 [{REREBRERE (92"
587H 4,029] 3,735,521 |{REXBRERE Sv)A )
587H 3,780] 3,731,741 [RERBERH MPRRAT—FIL 21}
5878 100] 3,731,641|P
587H 300] 3,731,341 [P
5H7H 140] 3,731,201 [BRfEL
5878 5,355 3,725,846 |[{REREEEFE(L—X—2)
5878 2,578] 3,723 268 [{RERBERH (V\EIV Q)
5828 6,880 3,716,388 |[{RERBEEBHELA(L S —Y
5878 7,980 3.708 408 | {RERBZEREFS(TI—F
5H9H 189,600| 3,518,808 7457 FIAZE
5118 22,991| 3,495817 KRB ERECYIA ) +IRAFHH
58118 7,350] 3,488,467 [ Ty REANRKR OST—FEF—2)
51280 2,000| 3.486.467 |(RERXREBRERE (FT T )
58148 5040 3,481,427 |[{RERBEREH (MPHRAL |
5H9H 1,500| 3,479,927|P (45 FF)
5A58] 22630 3,502,557 [ IREXRERERE Sv)rd)
48128 19,550| 3.483,007 |[RERERERE (FU T )
4F28H 420 3482587 |REREBRERE (FIT )
4F29H 420] 3.482,167 |(REREBRERE (FIT )
4F30H 840] 3,481,327 [{REERERERH (1 vI22)
4F30H 4,576 3,476,751 |{RERERERE (FI7 )
5H2H 420] 3.476,331 |REREBRERE (FIT )
5858 840 3.475491 [{RERERERE (X992 2)
4H278 7.100| 3.468,391 [{RIERZEFH (FIT A4 9IZ L)
58128 50,925| 3,417,466 [{REREAERERE (M7 -F1L2)
5H8H 2,090| 3,415,376 @ BRE RIS
3A11H 2,194] 3413 182 [HARBERET—ILT2)
5858 6,300| 3,406,882 ;BEE
5818H 1,000| 3,405,882 [P (55\Ff)
5818H 996| 3,404,886 | {RERBZEIFH (RAL |
58438 4,200] 3,400,686 BIEE
5838 6,704 3,393,982 ;BEE
5816H 34,310] 3,359,672 |REREAEERERH (KAL)
5816H 2,800( 3,356,872 |REREAERERE (KA)
5878 5,000 3,361,872 [HSHECHFH C=—TESE)
5811H 5,000 3,366,872 [NYHRCHMH =7 ES)
5818H 3,000 3,369,872 |[KORCB N =7 ES)
5H2H 1,111 3,370,983 |E. S#C 1T
5A7H 5,000 3,375,983 |H. SECF AT
5811H 5,000 3,380,983 |N.YER— & 1+
5818H 2,000 3,382,983|Y. SEECE{T
5F28H 9,000 3,391,983 |[KNEECZ 1+
5H28H| 50,000 3,441,983 | T.S#C &1t
5H20H 1,596] 3.440,387 [ X RBERBET—ILT2)
5H24H 1,400 3,438,987 [P (3%\Ff)
5H24H 6,531] 3,432,456 [{REREEERE M7-t1L Q)
58248 1,631] 3,430,825 [{Rz€ K FA 44 £.100%%
5H28H 896] 3,429,929 [{RERBREREH (KA
5827H 200] 3.429,729(P
5H29H 1,296] 3.428.433 | RERBERFH (KAL)
5H29H 209 3,428,224|28 A RS TA T SAHRE
5H827H] 15,000 3443224 | IZ B R L S BE
5H25H 5,000] 3,438224|BER(AE Y E)
5H29H 1,200| 3,437,024 [P (3%\Ffr)
58168 8,169] 3,428 855 |{RERBERH (J—F4LH)
5H23H 7,200| 3.421,655 | {RERBZEERE (F(L>—Y)
4F25H 4,620 3,417,035 |[{REXERERE (3 vI2 %)
5818H 525( 3416,510|[{RERERERE (392 )
5H21H 14,741] 3.401,769 | (REREBRERE (4 9I2 L)
5H23H 2,100] 3,399.669 |[#HKXREEEREEVIAS)
5H24H 100/ 3,399,569|P
5H21H 1,520( 3,398,049 i@ Bk 444
5H28H 9,230 3,407,279 | REXERERE SvI2 )
5H30H 1,520] 3,405,759 @ BR>E #1344
58318 4,725| 3,401,034|PCEIRE
58318 12,160 3,413,194 (5 v X R 5% 8 BR 744 (¥ 25 O EE 5)
58138][ 56,507 3,469,701 [12BFILEBHRET v XFT E+HFHE
58258 31,285] 3,438,416 BIEE (EFH28)

231,138| 545,447
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68 1H 3,438,416[6/11F 1152 &
6H2H 2,100| 3,436,316| BBHERSIVTATSAHT R P
681H 5292| 3,431,024 | REXRERERE (FII )
681H 800| 3,430,224[P (3H\Ffr)
681H 840| 3,429,384|E}{E{L
681H 3,150| 3426 234| REXREBREBE(FII )
6818 4,200 3,430,434 v XF* £
6H1H 1,800] 3,428,634/ X E
681H 800| 3,427,834|P (3H\Ffr)
681H 3,675| 3424, 159|RERXREEERE (KAL)
681H 1,111 3,425,270|E. SR FH T
6H4H 3,000 3,428,270|J.THRC &1t
6H4H 10,000 3,438,270|K.K{k = B4t
68 1H| 100,000 3,538,270|Y.I4 S & 1
6818 1,090] 3,537,180 BIE &
6898 4,500 3,541,680[4 v XFE E
6H98| 14,700 3,556,380 S HFWEBHE VAT L+H{AE
68128 600| 3,555,780[P (2A\FlT)
6H12H 1,000 3,556,780(¥{ Ik i bRk Y SF 1+
6H12H 5,040| 3,551,740/ REXRRERE (MPRIvIA ]
6812H 2,000 3,553,740 A4 S
68128 17,100 3,570,840|M#% 2V R =& (T
68148| 38270 3609, 110[REXREXREEE (39I2 L)
6H17H 13,112] 3,595,998 [:@{E & (244)
68148 6,600 3602598 REXREAEEE (Sv)2 )
6H15H 88,434] 3514164 RERXREBRERE (277 /M 3-2 )
6817H 2,100 3516,264| S —TDH{FE
68178 2,000 3,518,264|J. S¥RCH (T
68178 8,200| 3,510,064| K XBREHECO—ILT2)
6H18H 300| 3,509,764|P
68 18H 3,360] 3,506,404/ 1R RIZERE (MPR/\T N)
6H18H 6,450| 3,499,954|REXREAEERERE (NI J)
6H19H 6,300| 3,493,654|{REEREAREEERE (/\NT )
68128 6,950| 3,486, 704|REREAERERE SR N)
6819H 3,550| 3,483,154 |{RE KX B ERFLI (KAL)
68248 4200 3,478,954|P (3H\Fir)
6 H25H 2,604| 3,476,350 RERAER &
6826H 5,880] 3,470 470|{R#E R ERE (MPHRL—X—2)
6 H24H 6,400 3476 870(BREHE I v AT L+FHE
6H26H 7,500 3,484,370[47 w AT Y545 E
6H21H 17,110] 3,467,260[ REA YK
5H29H 7,140[ 3,460,120/ REXRRERE SvIA ]
6H26H 10,290| 3,449,830|REXEBRERE /\J )
6828H 1,200| 3,448,630|P (25 \Flr)
6 H30H 3,528| 3445102| REJT R
6 H28H 1,800] 3,443,302 REBEH %
6H822H 860] 3,442 442|@ERIEEI 21
68 15H 2,000 3,444 402|T. SECHF & =7)
68208 3,000 3,447,442|Y. SE¥ESHH(=F)
6826H 10,000 3,457,442|M. IEC BT (2 =7)
6H827H 5,000 3,462,442|T. SECHF & =7)
6H27H 29,974| 3,432 468|;BIEE (HEF25)
6 H8H 10,000 3,442,468| IR & T
68208 2,000 3,444 ,468|Y. S H (T
68278 5,000 3,449,468|H¥ = & 4+
68308 8,770 3,458,238V v X B FE @ B4t GRE O ER)
266,251 246,429
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7A1H 3,458,238[1/1f 11 &%
7818 42900 3415338 REREAERERE(C—X—2)
7A18][ 33,130 3448468 | REXEAEEE (WNEIV L)
7818 1,000] 3,447,468|P (2 Fr)
7A3H 525| 3,446,943 | REXREBRERE (RAS=T72)
7868 13,417| 3,433,526(7 v XE AN
788H| 14942 3,448,468 LB RS I v XL+ F L
7H28 3,793 3,444,675|XE
7838 5,320| 3,439,355|RERBRERE (Ev3—2)
7858 1,270] 3,438,085 3£t
7H5H 1,000 3,437,085|P
7878 840 3,436,245| &L KX Efth
7878 7,036] 3,429,209| X E
7858 500 3,429,709 v X5 £
78108 5,400| 3,424,309 |{RERBREBRE (LvFi—2)
78108 29,650 3,394,659 {RERERE OOVISAELHEAN)
7898 3,780| 3,390,879 |REXBRERE MPRtYFI—2)
7H10H 7,100| 3,383,779 |{RERZHZE (EyF—2/\F )
78108 2,500 3,386,279|J. SECHMF
78108 25,000| 3,361,279|FFL—=2F K
78128 7,800| 3,353,479| K&
7H12H 6,420] 3,347,059| K E
7H16H 3,240| 3,343819| X E(y2—HI T hIL)—5—)
78128 600] 3,343,219|P
78128 5,760| 3,337,459 | REREERERE KAL)
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128178 10,605 3,729,741 @ IE BEEE(HRA)
128188 4,200| 3,725 541 |REXEEERE (IILF—X2)
128181 770] 3,724,771 |EMER
128198 800] 3,723,971|P
128198 4500{ 3,719471 |[{RERXERERE (E77 )
12A18H 4,200] 3,715,271 [ BIEE
12H18H 850| 3.714.421[EH
12H24H 640] 3,713,781[%E#
12H20H 500 3,714,281|7 v XX (DOGFELLOW# %)
128238 600 3,713,681[P
128248 11,025[ 3,702,656 |[{RERXERERE (TUTIVIZL)
12A24H 28,350 3,674,306 | REREAEREREE (FI7I )
128248][ 23,150 3,697,456 | REREARERE (F7I )
128258 3,480] 3,693 976 | RERBERE (TUTIVIRL)
12H25H 1,200] 3,692,776[P (4H\FR)
128250 1,113] 3,691,663 | (RERBRERE (TUTIVIAL)
128230 1,596| 3,690,067 |RERBRERE (TUTIVIAL)
128278 6,720| 3,683,347 |(REXBRERE (MPH FII MI—%-d")
128308 19,363 3.663,984| K E
125280 2,300 3,666,284 | Fft &+5 v R 55 £ (MPSAS)
12A31H 2.140] 3,664,144|ER{ELE
128318 200] 3,663,944|P
128308 5200] 3,658,744 | RERXRERTREE A(TIL D)
128308 10,103] 3,648,641 |(REXEEERE (57 ")
12H30H 35,146/ 3,613,495 HEE. MV HOY. AR SR
128118 5,000 3,618,495|M. KEkZ&H{F (=7)
128148 5,830 3,624,325|T. MERCH (& =7)
128198 2,000 3,626,325|Y. ABRCH{F (=7)
128218 2,000 3,628,325|Y. SERCHENM =7)
12H25H 2,000 3,630,325|M. N&CHEMH C=7)
12H826H] 50,000 3,680,325|M. YHRCZH At (=7)
12H28H 6,000 3,686,325|M. KERCHFC=7)
12H83H 1,111 3,687,436|S. E, KERC Z 1t
128108[ 10,000 3,697,436|M. IBRCF 1T
128178] 10,600 3,708,036 K. THRC Z 4t
12H318H 500 3,708,536 |A. N &1t
12H318H 5,000 3,713,536|Y. THEC &1
128198 2,000 3,715,536|Y. ABRC Z{¢
128218 2,000 3,717,536|Y. SEEC & T
12H21H|[ 50,000 3,767,536 |ACT SR YEERC H LT IL)
1282580 17,771] 3,749,765 BE & (EH2E)
12H25H[ 10,000 3,759,765|M. NERC &1
12H25H 2,000 3,761,765|M. K &1t
12H25H| 188,373 3,950,138|R. Y&RC H 1+
12H25H[ 10,000 3,960,138[J. NERC 21+
128250 1,000 3,961,138[M. NERC &4
12H278| 51,135 4,012,273 7= ILER— a8k &+
1282780 3,000 4015273|R. SEECFH AT
12H28H| 27,500 4,042,773[S. MEEC &1+
12H28H| 25,000 40677713 |[REXEAREEE (KAR) +FHft&
128308 280] 4,067,493 |ER{EL
12H30H 1,210] 4,066,283]12 A @ ERE ¥ 34
128308 3,950 4,070,233 (12 5@ BR#RIA 314
4,070,233
601,449 346,906




